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67$7,21 1$0(6� 1DPH RI WKH FLW\� WRZQ RU ORFDOLW\� )LJXUHV DQG OHWWHUV
IROORZLQJ WKH VWDWLRQ QDPHV LQGLFDWH WKH GLVWDQFH LQ PLOHV DQG GLUHFWLRQ
IURP WKH SRVW RIILFH RU WRZQ FRPPXQLW\ FHQWHU�

',9,6,216� $UHDV ZLWKLQ D VWDWH RI VLPLODU FOLPDWRORJLFDO FKDUDFWHULVWLFV�
'LYLVLRQ DYHUDJHV DUH FDOFXODWHG XVLQJ GDWD IURP VWDWLRQV WKDW UHFRUG ERWK
WHPSHUDWXUH DQG SUHFLSLWDWLRQ �L�H� QRW SUHFLSLWDWLRQ DORQH��

1250$/6� 7KH DYHUDJH YDOXH RI WKH PHWHRURORJLFDO HOHPHQW RYHU D WLPH
SHULRG� (IIHFWLYH � -DQXDU\ ����� WKH DYHUDJLQJ SHULRG LV ���� WR �����
7KH QRUPDOV IRU 1DWLRQDO :HDWKHU 6HUYLFH ORFDOLWLHV KDYH EHHQ DGMXVWHG VR
DV WR EH UHSUHVHQWDWLYH IRU WKH FXUUHQW REVHUYDWLRQ VLWH�

0217+/< '(*5(( '$< 727$/6� 2QH KHDWLQJ �FRROLQJ� GHJUHH GD\ LV DFFXPXODWHG
IRU HDFK ZKROH GHJUHH WKDW WKH GDLO\ PHDQ WHPSHUDWXUH LV EHORZ �DERYH� ��
GHJUHHV )DKUHQKHLW�

35(&,3,7$7,21� 9DOXHV VKRZQ LQ KXQGUHGWKV RI LQFKHV DUH ZDWHU HTXLYDOHQW
WRWDOV� L�H�� WRWDO RI OLTXLG DQG PHOWHG IUR]HQ SUHFLSLWDWLRQ� ,Q WKH
µ0RQWKO\ 6XPPDUL]HG 'DWDµ WDEOH WKH WRWDO VQRZ DQG VOHHW YDOXHV VKRZQ LQ
WHQWKV RI LQFKHV DUH XQPHOWHG DPRXQWV� 7KH PD[ GHSWK RQ JURXQG YDOXHV RI
VQRZ DQG VOHHW VKRZQ LQ ZKROH LQFKHV DUH FXPXODWLYH XQPHOWHG DPRXQWV� 7KH
QXPEHU RI GD\V ZLWK ���� ���� ���� RU PRUH UHIHUV WR ZDWHU HTXLYDOHQWV�

35(&,3,7$7,21 48$/,7< &21752/� 7KH 1&'& TXDOLW\ FRQWURO SURFHVV PD\ GHOHWH
SUHFLSLWDWLRQ GDWD WKDW DUH VSDWLDOO\ LQFRQVLVWHQW� H[FHHG FOLPDWRORJLFDO
OLPLWV� RU DUH LQFRQVLVWHQW ZLWK SUHYDLOLQJ ZHDWKHU SDWWHUQV�

7(03(5$785(� 2ULJLQDO DQG HGLWHG WHPSHUDWXUH YDOXHV DUH JLYHQ LQ WKH
µ'DLO\ 7HPSHUDWXUHµ WDEOH� (GLWHG YDOXHV DUH SURGXFHG ZKHQ DQ RULJLQDO
YDOXH LV PLVVLQJ RU ZKHQ VXUURXQGLQJ VWDWLRQV LQGLFDWHG D VXVSHFW RULJLQDO
YDOXH� :KHQ D OLQH ODEHOHG 2%6 LV SUHVHQW DQG FRQWDLQV HLWKHU D GDLO\
WHPSHUDWXUH �VXVSHFW� RU 


 �PLVVLQJ�� WKH WHPSHUDWXUH DSSHDULQJ GLUHFWO\
DERYH� RQ WKH OLQH ODEHOHG 0$; RU 0,1� LV DQ HGLWHG YDOXH� 6XPPDU\
WHPSHUDWXUH LQIRUPDWLRQ �DYHUDJHV� GHSDUWXUHV� H[WUHPHV� PRQWKO\ GHJUHH GD\
WRWDOV� LV EDVHG RQ WKH YDOXHV ODEHOHG 0$;�0,1�

:,1'� �$V VKRZQ LQ WKH µ(YDSRUDWLRQ DQG :LQGµ WDEOH� WKH WRWDO ZLQG
PRYHPHQW LQ PLOHV RYHU WKH HYDSRUDWLRQ SDQ DV GHWHUPLQHG E\ DQ DQHPRPHWHU
UHFRUGHU ORFDWHG ���� LQFKHV DERYH WKH SDQ�

6<0%2/6 $1' /(77(56 86(' ,1 7+( 67$7,21 ,1'(; 7$%/(

� 7KHUPRPHWHUV ORFDWHG LQ D URRIWRS VKHOWHU�
�� 5DLQ JDJH HTXLSSHG ZLWK D ZLQGVKLHOG
$5 2EVHUYDWLRQ PDGH µDIWHU UDLQµ KDV RFFXUUHG�
& 6WDWLRQ LV HTXLSSHG ZLWK UHFRUGLQJ UDLQ JDJH �5� EXW YDOXHV LQ WKLV
EXOOHWLQ DUH IURP D QRQ��UHFRUGLQJ UDLQ JDJH XQOHVV LQGLFDWHG E\ DQ 5�

* 2EVHUYDWLRQV DSSHDU LQ WKH µ6RLO 7HPSHUDWXUHVµ WDEOH�
+ 2EVHUYDWLRQV DSSHDU LQ WKH µ6QRZIDOO DQG 6QRZ RQ WKH *URXQGµ WDEOH�
- 6WDWLRQ DOVR SXEOLVKHG DV D /RFDO &OLPDWRORJLFDO 'DWD SXEOLFDWLRQ�
0,' 2EVHUYDWLRQ WLPH LV PLGQLJKW�
02 5DLQ JDJH UHDG RQFH PRQWKO\� XVXDOO\ WKH ODVW GD\�
2& 5DLQ JDJH UHDGLQJV YDU\ IURP D IHZ ZHHNV WR VHYHUDO PRQWKV�
5 $PRXQWV IURP UHFRUGLQJ UDLQ JDJH�
65 2EVHUYDWLRQ WLPH QHDU VXQULVH�

9$5 2EVHUYDWLRQ WLPH YDULHV�
:, 5DLQ JDJH UHDG ZHHNO\ RU LUUHJXODUO\�
:0 5DLQ JDJH UHDG ZHHNO\ DQG ODVW GD\ RI WKH PRQWK�

6<0%2/6 $1' /(77(56 86(' ,1 7+( '$7$ 7$%/(6

�'$,/< '$7$ $5( )25 7+( �� +2856 ,00(',$7(/< 35(&(',1* 2%6(59$7,21 7,0(��
%/$1. (QWULHV LQ WKH µ0RQWKO\ 6XPPDUL]HG 'DWDµ WDEOH LQGLFDWH QR UHFRUG�
%/$1. (QWULHV LQ WKH µ'DLO\ 3UHFLSLWDWLRQµ DQG µ6QRZIDOO DQG 6QRZ RQ WKH

*URXQGµ WDEOHV LQGLFDWH ]HUR�
%/$1. (QWULHV LQ WKH µ'DLO\ 7HPSHUDWXUHµ WDEOH LQGLFDWH D PLVVLQJ UHFRUG

ZKHUH DQ HGLWHG YDOXH FRXOG QRW EH GHWHUPLQHG� �6HH 


 EHORZ�
�� 1R UHFRUG� 'DWD QRW UHFRUGHG� GHWHUPLQHG XQUHOLDEOH E\ TXDOLW\ FRQWURO
FKHFN� RU QRW UHFHLYHG LQ WLPH IRU SXEOLFDWLRQ�
� 3UHFLSLWDWLRQ RU WHPSHUDWXUH H[WUHPHV RFFXUUHG RQ RQH RU PRUH SUHYLRXV
GDWHV GXULQJ WKH PRQWK�




 0LVVLQJ RULJLQDO WHPSHUDWXUH ZKLFK KDV EHHQ HVWLPDWHG GXULQJ HGLW�

 5DLQ JDJH QRW UHDG� 3UHFLSLWDWLRQ LV LQFOXGHG LQ WKH DPRXQW IROORZLQJ
WKH DVWHULVNV� 7LPH GLVWULEXWLRQ QRW NQRZQ� $ 
 SUHFHGLQJ WKH PRQWKO\
WRWDO LQGLFDWHV SUHFLSLWDWLRQ DPRXQW LV EHLQJ FDUULHG IRUZDUG WR QH[W
PRQWKV WRWDO� DQG PD\ LQFOXGH DPRXQWV IURP WKH SUHYLRXV PRQWK�V��

�� 5DLQ JDJH HTXLSSHG ZLWK D ZLQGVKLHOG�
$ $PRXQW RI SUHFLSLWDWLRQ LV WKH WRWDO RI REVHUYHU·V HQWULHV IRU WKH
FXUUHQW PRQWK� ,W PD\ LQFOXGH SUHFLSLWDWLRQ WKDW RFFXUUHG GXULQJ WKH
SUHYLRXV PRQWK� 5HIHU WR HDUOLHU EXOOHWLQ WR GHWHUPLQH GDWH RI ODVW
UHDGLQJ� �+DZDLL VWDWLRQV�
% $GMXVWHG PRQWKO\ YDOXH �HVWLPDWHG�� ����� PLVVLQJ YDOXHV IRU ZLQG DQG
HYDSRUDWLRQ��
0 ,QVXIILFLHQW RU SDUWLDO GDWD� 0 LV DSSHQGHG WR DYHUDJH DQG�RU WRWDO
YDOXHV FRPSXWHG ZLWK ���� GDLO\ YDOXHV PLVVLQJ� 0 DSSHDUV DORQH LI ��
RU PRUH GDLO\ YDOXHV DUH PLVVLQJ� �� RU PRUH IRU ZLQG DQG HYDSRUDWLRQ��
5 $PRXQWV IURP UHFRUGLQJ UDLQ JDJH�
7 7UDFH� $Q DPRXQW WRR VPDOO WR PHDVXUH�
9 ,QFOXGHV WRWDO IRU SUHYLRXV PRQWK�V�� �6HH 
 DERYH�

6($621$/ 7$%/(6� 0RQWKO\ DQG VHDVRQDO VQRZIDOO DQG KHDWLQJ GHJUHH GD\V IRU
WKH �� PRQWKV HQGLQJ ZLWK WKH -XQH GDWD DUH SXEOLVKHG LQ WKH -XO\ LVVXH RI
WKLV EXOOHWLQ� &RROLQJ GHJUHH GD\V IRU WKH FDOHQGDU \HDU DUH SXEOLVKHG LQ
WKH µ&OLPDWRORJLFDO 'DWD $QQXDO 6XPPDU\�µ

,QIRUPDWLRQ FRQFHUQLQJ WKH KLVWRU\ RI FKDQJHV LQ ORFDWLRQV� H[SRVXUH� HWF�
RI VXEVWDWLRQV LV NHSW RQ ILOH DW WKH 1DWLRQDO &OLPDWLF 'DWD &HQWHU�
+LVWRULFDO LQIRUPDWLRQ RI UHJXODU 1DWLRQDO :HDWKHU 6HUYLFH 2IILFHV PD\ EH
REWDLQHG IURP WKH µ/RFDO &OLPDWRORJLFDO 'DWDµ DQQXDO SXEOLFDWLRQ� 7KH
FRQWHQWV RI WKLV SXEOLFDWLRQ PD\ EH UHSULQWHG RU RWKHUZLVH XVHG IUHHO\�
ZLWK SURSHU FUHGLW WR WKH 1DWLRQDO &OLPDWLF 'DWD &HQWHU� 7KH GDWD DUH DOVR
DYDLODEOH LQ GLJLWDO IRUP RQ PDJQHWLF WDSH DQG GLVNHWWH�
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8QLWHG 6WDWHV 'HSDUWPHQW RI &RPPHUFH
12$$ 3HUPLW 1R� *����

7R FKDQJH \RXU DGGUHVV� SOHDVH UHWXUQ D FRS\ RI WKH PDLOLQJ ODEHO DORQJ ZLWK \RXU QHZ
DGGUHVV WR� 1DWLRQDO &OLPDWLF 'DWD &HQWHU �6XEVFULSWLRQ 6HUYLFHV��
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